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Averages
HETINE B FHTFHHE Ty _BIRZH (Sum of Items)
Find the average of the following groups of numbers : |(Average)” IE®  (No.of ltems)
@D 4179 24 @ 09514525
3 8 F 3
Average = (41+79+24)+3 Average = ((0+9+14+25)+4
= 48 =12
@ 17.713.6 > 28.7 @ 4.1-35°5-2.9>0.5
333 T 33
Average = (1 7.7+13.6+28.7)+3 Average =(4.14+2.94+3.5+0.5+5)+5
= 20 = 3.2
| 2 9 | | 5)
® 1558511 ® 7515035
T 3£ 155 84 79 - 3£ 44 7 23 ..
Rertaé = g+ 10 Rerdas = (gt
_ 103 _oa
= 10 £ =4 9
e
Fill in the blanks :
ORETEE @ xR s @ I h R
Johnny's result Mandy's result Nick's result
¥ ¥ 3 3
Chinese 81 Chinese 7 Chinese 92
33 33T 3L
English 88 English 75 English 80
# 2 # % # 2
Maths 91 Maths 90 Maths 88
General Studies 80 General Studies 95 General Studies 8
Ly 4 4 sy
Totgl 340 Tot:l 3395 TotZl 338
T4 - = 35
Averag); 89 Averagz: 83. 15 Averag]; 84.9
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Circle the answers :
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Peter and Paul buy a model costing $216 together. If Dad buys the model with
them, how much money does each of them pay on average ?

A.216%322 216+3 C.216%2+3
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The average number of visitors going to Ocean Park per day was 759 this week.
If there were 4200 visitors from Monday to Saturday altogether, how many
visitors were there on Sunday ?

A.4200-759+6 759><7—4200 C. T59%6+4200
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Martin scored 89, 75 and 97 marks on his Chinese, English and Maths tests
respectively. What is the average mark of his 3 tests ?

A (89+75+49T)x3  (B)(89+75+97)+3 C. 89475497
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The average number of visitors going to Ocean Park per day was 903 this week.
How many visitors went to Ocean Park this week in total ?

903><7 B.903=7 C.903x12=7
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28 % V&2
There are 4 fish tanks containing 3, 7, 8 and 14 goldfish respectively.
How many goldfish are there in each tank on average ?

A. 8x4 B. (3+748+14)x4 @(3+7+8+14)+4
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The average age of Dad, Mum and Peter is 38 years old. If Paul’s age is added,
the average age will be 33 years old. How old is Paul ?

33><4—38><3 B. 38x4-33x3 C.33-38x3:4
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